MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

CHALLENGE 1;;1 o
181 (0.5 x 22 = 106)  —(0.011 x 0.005 =
152)(0.0003 x 0.0189 = o —11 X 383 =
183 —0.1 % 0.139 = 18 0.001 x 0.33 =
500,04 x (—0.3) = 9 —0.008 x (—2.57) =
w5 0.01 x 0.0041 = w0 —0.007 x (—0.046) =
156 4 x (—0.368) = 501) 10 x 0.0387 =
w57 —5 x (—49.8) = 52) —1 X 18.2 =
19 0.09 x (—190) = 03 —0.07 X (—=9.6) =
459 0.0003 x 4.36 = 00 11 x 1.24 =
w0 0.011 x (—44.7) = w0 11 x (—=316) =
191 0.003 x 0.01 = 506)  (0.006 x 0.68 =
192) () X 145 = 07 0.05 x (—442) =
193 2 x (—0.0304) = 508 0.0002 x (—=315) =
v —0.0004 x 3.4 = 09 —0.01 x (—45.6) =
05 —0.0006 x (—0.221) = 5100 0.008 x (—3.52) =
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